END OF YEAR REVIEW ANSWERS
1. replication
2. AAGUGCGCCUUU
3.  mRNA message is copied off the template strand and
     is the same sequence as the coding strand except (U’s in place of T’s)
4. transcription

5. lys-cys-ala-phe

6. translation

7. reverse transcriptase

8. ETC in chloroplasts/mitochondria pump H+ into thylakoid space/intermembrane space
    (Used for ATP production in light dependent reaction/cellular respiration)
    loading lysosomes with acid (H+) for digestion  
    root hairs pump H+ out to release ions from soil (increases absorption) . . .

9. Phosphate in ATP, phospholipids, DNA, nucleotide subunits, cAMP

10. primary

11.   polar head and nonpolar tails cause it to for bilayer with heads out and tails in

12. spermatogenesis makes 4 spermatids; oogenesis makes 1 egg/3 polar bodies

13. aquaporins

14. Calcitonin brings calcium levels down when too high; insulin brings glucose levels down when too high; many enzymes regulated by molecules in their pathway EX: phosphofructokinase  allosterically regulated by high levels of ATP . . .

15. Na+-K+ pumps- set membrane potential on nerve cells; set concentration gradient for cotransport (sugars); cause changes in turgor to open/close guard cells . . . 

16. Biomass is increasing (making more than is being used up)
17.lactic acid

18. Cells couple exergonic (energy releasing) reactions like removal of phosphate from ATP to provide power for endergonic (energy requiring) reactions

19. cofactors

20. hemoglobin-Fe (iron) ; chlorophyll-Mg (magnesium) 

	Oxytocin
	Stimulates contraction of uterus/mammary gland cells

	Antidiuretic hormone (ADH)
	Water retention by kidneys

	Growth hormone (GH)
	Stimulates growth (especially bones) & metabolic functions

	Prolactin (PRL)
	Stimulates milk production & secretion

	Follicle stimulating hormone (FSH) 
	Stimulates production of ova & sperm

	Luteinizing hormone (LH)
	Stimulates ovary/testes

	Thyroid stimulating hormone (TSH)
	Stimulates thyroid gland

	Adrenocorticortropic hormone (ACTH)
	Stimulates adrenal cortex to secrete glucocorticoids


21. 

22. Tay-sachs; PKU, cystic fibrosis
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23. nondisjunction

24. ½ or 50%

25. TUBE 3 has DPIP, unboiled chloroplasts and light
26.  It is an autosomal recessive trait
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Draw a picture to show how electrophoresis
works. Label the + and - ends. Explain the
relationship between fragment size and
distance moved on the gel and why DNA moves
in an electric field.

Phosphatesin DNA
= have negative charge
attracted to + pole

Shorter fragments move farther
and faster along the gel

Click to add notes N




27.         Smaller fragments move farther and faster.
28. sarcoplasmic reticulum (Smooth ER)
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29. Ribosome → rough ER → Golgi Body→ vesicle→ plasma membrane 
                       NO CHANGE TO ∆G
30.  
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31. Na+-K+ pumps (active transport) set potential on membrane by pumping 3 Na+ out of cell and 2 K+ into cell (salty banana); signal triggers opening of Na+ ion channels that let Na+ back into cell and K+ ion channels that let K+ out of cell (passive transport)

32.  

Increasing temp increases enzyme activity up to a point; Too hot-enzymes denature and lose their activity
33. Smallest cube has the greatest SA/volume ratio

34..    more water will leave than enter cell; crenation

35.  Temporal isolation;/prezygotic barrier

36. All except dead zones (fertilizer/manure runoff) and ozone depletion (CFC’s)
37.  Energy-one way trip/not recycled   Matter-recycled through biogeochemical cycles
38. When resources are unlimited individuals in population have all they need/population grows exponentially. As population grows larger, resources become scarce, and not all organisms can get resources they need and some will die. Population reaches carrying capacity= Maximum number of organisms that an ecosystem can sustainably support. Population number hovers around carrying capacity (logistic growth)

39.  pre-mRNA message is edited to remove introns join exons to make an edited message that is turned into a protein.  Alternative splicing allows cell to use same gene (DNA) to make different messages and therefore different proteins depending on which part of the message is edited out and which part remains.  EX: Antibodies to different invaders have same base sequence, but ends are altered to fit the specific antigen.

40. 

	ALPHA
	BETA

	OH ON #1 CARBON POINTS DOWN
	OH on #1 CARBON POINTS UP

	Used to make starch and glycogen
	Used to make Cellulose and Chitin

	Bonds are digestable by animals (humans)
	Bonds are undigestable by animals (humans)

	Used for energy storage
	Used for structural building material (Cell walls in plants (Cellulose)/ exoskeletons in arthropods/cell walls in fungi (Chitin)


41.  cellular respiration- O2
      photosynthesis – NADP+
42.  mutualism

43.  Reception → Signal transduction→ response
44. Different kinds of cells have different cellular receptors so can produce different responses 
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